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Solution:


Starting at some cell, say C3, define the value of the cell to the right of this cell, D3, as the value of horizontal start and define the value of the cell below this cell, C4, as the value of vertical start. Define the value of E3 to be D3 + horizontal step. Copy the formula for E3 and paste it into the cells F3 to M3. Define the value of C5 to be C4 + vertical step. Copy the formula for C5 and paste it into the cells C6 to C13.


In referring to the cells that contain the values of horizontal start, horizontal step, vertical start and vertical step, you must use notation that describes their absolute locations. For example, if the value of horizontal start is to be found in cell A3, you must refer to it as $A$3 (using the Microsoft Works spreadsheet; although the notation may vary, all spreadsheets have a way to distinguish between absolute and relative references).


Now define D4 to be D$3 ( $C4. The $ signs ensure that when this formula is copied it is not interpreted as “the value of the cell in the row above times the value of the cell in the same row one cell to the left” but rather “the value of the cell in the row above times the value in the same row and in column C.” Copy the formula in D4 and paste it into the cells E4 to M4. Now copy cells D4 to M4 and paste them into rows 5 to 13.
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